——
N = 0] &F AF S & AN A
20178 = 20 A LEHSH ME=X]
SN XD
B YASES MEBOE 23
EHe: AQIME=SI XS (2 &HH)
L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
ME =T 293,786, 104 273,341,044 20,445,060
= 183,249,375
Xl 2,800,000
Jl 29,082
= 27,674,564
Al 80,033,083
NASES MEOY BH 89,396,004 78,172,377 11,223,627
= 71,731,486
Xl 2,800,000
= 6,438,337
Al 8,426,181
ASIME=ST X 4,550,284 3,998,630 551,654
= 490,535
o= 470,723
Al 3,589,026
Al 22X 2 29 2,140,440 1,893,611 246,829
307 QI2t0| ™ 2,140,440 1,893,611 246,829
05 QIZtREZ 1,269,940 1,110, 161 159,779
OAMSSX2 2AEH| 1,079,449
OAZEXNANESAIHRIMA 190,491
10 A SXNANEEHESIHEX 870,500 783,450 87,050
OAMNSSX2 2AH| 745,925
OAZEXNANESAXKHRSIMA 124,575
MNSIEX2H SAIL EELE 85,680 0 85,680
= 25,704
Al 59,976
307 gizto| A 85,680 0 85,680
= 25,704
Al 59,976
11T A EXAIEEX 85,680 0 85,680
OMISK2 SANL S8 85,680
= 25,704
Al 59,976
Atgl2X2 X9=2X T2 29| 35,000 35,000 0
o= 7,000
Al 28,000
307 212t0| ™ 35,000 35,000 0
= 7,000
Al 28,000
11 A EXAIEEX 35,000 35,000 0
OAMIE2EXNS NESEXNE2]H 2HH| 35,000
& 7,000
Al 28,000
AMSEX2 AHEZZ)H IS 46,810 46,810 0




SN XD
HE: HASSE MEOUY B3
EHe: AQIME=SI XS (2 &HH)
x 5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 46,810 46,810 0
11T AISIEXAIEEX 46,810 46,810 0
OX=ZE AL =S A2 9,500
ONF=ZE A 2A 2 9,500
OZESEEAIE = Al 2 9,000
OSHALS S AL 2 A& 9,405
OHUHHEE A S X2 9,405
AMSIEXE JsE2 132,359 131,600 759
< 54,004
Al 78,265
402 SI2F X201 M 132,359 131,600 759
& 54,094
Al 78,265
02 CIZEXIEAIS EX (0| XM THL) 132,359 0 132,359
OAIZIEX 2 JIsEd 132,359
o= 54,094
Al 78,265
L0l Ald QEZEI(ALZS &) 27,000 27,000 0
307 QI2t0| & 27,000 27,000 0
05 QIZtRES 27,000 27,000 0
OE=0QAAd FEr2e 27,000
L=0AE 29 671,356 693, 135 A21,779
= 469,949
o 201,407
307 212t0| & 671,356 693, 135 A21,779
= 469,949
o 201,407
10 M SXNANEEHESIHEX 671,356 693, 135 N21,779
OL=QAE 29 671,356
= 469,949
= 201,407
L=0AE JisEd 41,172 27,278 13,894
= 20,586
& 10,293
Al 10,293
401 AlEHIZL £ 0HY| 41,172 27,278 13,894
= 20,586
&< 10,293
Al 10,293
01 Al&H| 41,172 27,278 13,894
OE=0AA JsEHY 41,172
= 20,586
o= 10,293
Al 10,293




2N MEE2X
HE: HASSE MEOUY B3
Sl A ME=T X EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
=X ESHI(&H) 553,399 500,471 52,928
== 159,225
Al 394,174
307 2Iz2t0| A 553,399 500,471 52,928
o= 159,225
Al 394,174
11 A EXAIEEX 553,399 500,471 52,928
oOoL=X E5H(&2H) 490,071
& 147,021
Al 343,050
OL =0 AL SAA E8E 63,328
= 12,204
Al 51,124
MBI EXAF EF0D=H A& 13,008 13,005 3
307 212t0| & 13,008 13,005 3
11 A EXAIEEX 13,008 13,005 3
OASIEXAI EL1WEH XS 13,008
MSIEXAIE SAN FIIEE HEgUL=s 4,000 4,000 0
201 Bt 4,000 4,000 0
03 A2 G HI 4,000 4,000 0
OMIZ2EXAIE SAX AJIEE HERSHI|
20,000 x200H 4,000
ASI =X A SXIIE XA 82,160 0 82,160
307 212t0| & 82,160 0 82,160
11 A EXAIEEX 82,160 0 82,160
OAMIZEXA EX2tE XS 130, 000 »632H 82,160
AMNSIEXAF S0tel &=Hl XN 5,000 5,000 0
307 2iz2to| A 5,000 5,000 0
11T AISIEXAIEEX 5,000 5,000 0
osotel gsHl X 5,000
SHO A A E Y 1,000 1,000 0
301 et A= 1,000 1,000 0
11 J|EtE A2 1,000 1,000 0
O8N X A eI 1,000
IEAZMBAME 76,000 72,000 4,000
o= 13,000
Al 63,000
307 212t0| & 76,000 72,000 4,000
=} 13,000
Al 63,000
11 A EXAIEE X 76,000 72,000 4,000
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2N
X ZH -
L= B

el

Off &t 24

dEE
Off & 24

= N H

76,077,822
68,470,040
5,325,447
2,282,335

66,077,220

10,000,602

= HmnH

76,077,822
76,077,822

68,470,040
5,325,447
2,282,335

66,077,220

10,000,602

86,161

167,387

N81,226

86,161

167,387

N 81,226

86,161
86,161

167,387

N 81,226

= W

371,612

334,451
26,013
11,148

271,000

100,612

= N H

371,612
334,451
26,013
11,148

271,000

100,612

= MW

371,612
371,612

334,451
26,013
11,148

271,000

100,612

= MW

2,431,570
1,945,240
194,530
291,800

2,397,000

34,570

= N W

2,431,570

1,945,240
194,530
291,800

2,397,000

34,570

2,431,570
2,431,570

= N H

1,945,
194,
291,

240
530
800

2,397,000

34,570

AZIMHI A EXHAY

4,000,
2,800,
400
800

000
000

,000
,000

3,722,855

277,145

e
s
Mo
0%

1
1

,954
,368

196

3,004

A 1,050




SN XD
B YASES MEBOE 23
e MASES MHA & (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 390
01 AP 22| d| 1,954 3,004 A 1,050
OXNYXEE Al AMHIA EXAY 1,954
Xl 1,368
o= 196
Al 390
202 044l 1,050 0 1,050
Xl 735
=} 105
Al 210
01 2L I 1,050 0 1,050
OXNEXEY AISIAMHIA EXAE 1,050
N 735
& 105
Al 210
403 XX SHS K20 & 3,996,996 0 3,996,996
Xl 2,797,897
& 399,699
Al 799,400
02 ZI2SOHUSA=2EUSEASE Y 3,996,996 0 3,996,996
OXNIGXNESE AMIIAHA EXALS 3,996,996
Xl 2,797,897
= 399,699
Al 799,400
SSHAHI 22l A el HHl KIS 303,240 293,520 9,720
= 151,620
Al 151,620
101 @1 21| 303,240 293,520 9,720
= 151,620
Al 151,620
03 2INHAZ2 2 NHE %= 303,240 293,520 9,720
OSEAtdI 22l AP 21 24H] XI& 303,240
= 151,620
Al 151,620
= 2XoEs(sUH=EN)z=x 30,000 287,450 A 257,450
307 2Iz2t0| A 30,000 0 30,000
11 A EXAIEEX 30,000 0 30,000
Os XNYAEE EoM 43 X
3,000,000 * 1004 & 30,000
g = 00| Qs H0te ghat 545,000 475,000 70,000
301 et A= 545,000 475,000 70,000
11 JIEtE A2 545,000 475,000 70,000
O Al & LBkRF Ui Y 545,000
=S EEAMREMNH 2N 127,200 127,200 0
= 21,624




SN XD
HE: HASSE MEOUY B3
el MASSE MHlA X2 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 105,576
307 glz2tol & 127,200 127,200 0
< 21,624
Al 105,576
11T MISXASEEX 127,200 127,200 0
OAERNNESHH 2 127,200
< 21,624
Al 105,576
MASE 4oty X 40,000 50,000 210,000
301 et a3z 40,000 50,000 A 10,000
01 MEIBEE 2063 40,000 50,000 A 10,000
OMASIHE X & 20,000
O=XNAEXA 20,000
A NGASEEEAN 2 45,000 45,000 0
307 glz2+ol & 45,000 45,000 0
10 AL SXAIEEE2EH EX 45,000 45,000 0
OX=Al NFA2HEAM 2 45,000
SAUUOIHE MIIeas N& 160,000 160,000 0
301 et a3z 160,000 160,000 0
01 MEIBEE 263 160,000 160,000 0
OFFUUOIIE HMII=Z X 160,000
ABI X2 HAIR AIESAL 1S 11,115 11,115 0
307 21201 A 11,115 11,115 0
11T AL SXAIEE = 11,115 11,115 0
OMEISXI2AY AL R AIESAX W= 11,115
HEes e-dREAMHIA X 5,000 5,000 0
201 €24 5,000 5,000 0
02 =224l 5,000 5,000 0
Oe-O8l2™ MHIA X 5,000
ROt SXAMHA e X2 420,000 0 420,000
= 210,000
Al 210,000
405 RHoHF S HI 420,000 0 420,000
= 210,000
Al 210,000
01 AL EFSFHSHI 420,000 0 420,000
OO0t SXNAMEIA HEXA 420,000
= 210,000
Al 210,000
AT SetAtel el XI& 24,000 24,000 0
= 12,000




AN MESID
HE: HASSE MEOUY B3
??: HASE MHIA X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 12,000
201 L4 9,600 9,600 0
2 4,800
Al 4,800
01 At 2t 2l 9,600 9,600 0
OAZT SEAtd2el XA 9,600
= 4,800
Al 4,800
301 et a3z 14,400 14,400 0
= 7,200
Al 7,200
01 AR 2Z A 53 14,400 14,400 0
OANZ7 SeAtdlatel XA 14,400
= 7,200
Al 7,200
SPE ¥EH SEMNUA N 168,000 60,000 108,000
2 117,600
Al 50,400
201 Yet2 | 84,000 18,000 66.000
2 58,800
Al 25,200
01 At 22l 84,000 18,000 66,000
OsHs ¥EE SEAMHIA X 84,000
= 58,800
Al 25,200
301 et a = 84,000 42,000 42,000
= 58,800
Al 25,200
01 MEIBEE 263 84,000 42,000 42,000
OSHES XFE SEAMHIA XNE 84,000
= 58,800
Al 25,200
Lo=x & 154,596,772 146,739,224 7,857,548
= 90, 113,369
J| 29,082
< 15,453,917
Al 49,000,404
CEMENE X 130,036,306 127,017,818 3,018,488
= 87,465,881
< 9,300,479
Al 33,269,946
=3 117,261,068 114,507,879 2,753,189
= 82,082,747
< 7,035,664
Al 28,142,657
301 et a3z 117,261,068 114,507,879 2,753,189




2N
X ZH -
L= B

el

= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o il HImEET

= 82,082,747
< 7,035,664
Al 28,142,657

01 MEI2BZE 05z 117,261,068 114,507,879 2,753,189
OJI=d= 117,261,068
= 82,082,747
< 7,035,664
Al 28,142,657

LS oldRtel At 10,200,714 10,051,640 149,074
= 5,100,357
< 2,040,143
Al 3,060,214

101 @124l 1,740,600 2,243,100 A 502,500
= 870,300
< 348,120
Al 522,180

04 JIZHHNZ2Z2XNSE+ 1,740,600 2,243,100 A 502,500
Ol Ut 1,740,600
= 870,300
< 348,120
Al 522,180

201 24| 87,500 61,500 26,000
= 43,750
< 17,500
Al 26,250

01 At 22l 87,500 61,500 26,000
Ol Ul A 87,500
= 43,750
< 17,500
Al 26,250

202 044l 6,900 5,700 1,200
= 3,450
< 1,380
Al 2,070

01 = LH A HI 6,900 5,700 1,200
Ol Ut 6,900
= 3,450
< 1,380
Al 2,070

307 glz2tol & 8,365,714 7,741,340 624,374
= 4,182,857
< 1,673,143
Al 2,509,714

04 QIZFHALAIH 2 = 8,000 8,000 0
Ol LRl At 8,000
= 4,000
< 1,600
Al 2,400

«©




2N

=R &l
SRl CEMENY X EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 8,357,714 7,733,340 624,374
Ol U A 8,357,714
= 4,178,857
< 1,671,543
Al 2,507,314
ColdiielAg (dgos) 565,554 568,711 A 3,157
= 282,777
< 113,112
Al 169,665
101 @14l 44,649 41,613 3,036
= 22,325
< 8,930
Al 13,394
04 D12t Z22HEE = 44,649 41,613 3,036
Ol YRl (HMeol=d) 44,649
= 22,325
< 8,930
Al 13,394
307 gl2tol & 520,905 527,098 26,193
= 260,452
< 104,182
Al 156,271
11T M SXASE EX 520,905 527,098 A6,193
Ol YRelmg(dgelxd) 520,905
= 260,452
< 104,182
Al 156,271
COFAXNALEYH 2 166,800 166,800 0
307 glz2+ol & 166,800 166,800 0
05 RIZtE = 166,800 166,800 0
OLQHFHYXNAEH 2¢ 166,800
Lolgdel OtE ALY 627,000 590,000 37,000
307 21201 A 627,000 590,000 37,000
05 RIZt2IEt = 627,000 590,000 37,000
Ol Nel0tE ALY 627,000
LoRs ANIESAUL 29 90,000 90,000 0
301 LAz 90,000 90,000 0
01 MI2ZE 6= 90,000 90,000 0
Okl |2 NI SAL 2]
5,000& 1,170 x143] 81,900
O =203l 8,100
AMLIEE 22l 770,000 740,000 30,000
< 66,000
Al 704,000




SN XD
Hu: Lo=] ZX
o9l TEMBOF X CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 770,000 740,000 30,000
== 66,000
Al 704,000
10 MM SXAANEEHESIGHEX 770,000 740,000 30,000
OAILIHEYE 29| 770,000
= 66,000
Al 704,000
AMLIHEE ESAIA EEE 25,200 0 25,200
= 7,560
Al 17,640
307 gizto| A 25,200 0 25,200
& 7,560
Al 17,640
11T AISIEXAIEEX 25,200 0 25,200
OANMLIZEE AL E8E 25,200
& 7,560
Al 17,640
st-ols 23 2494 N 68,820 61,938 6,882
307 2I2t0| & 68,820 61,938 6,882
10 AISIEXAIEEHE2IHIEXR 68,820 61,938 6,882
ostolg =23 2%dl XA 68,820
22y ZsH 2sH N 25,650 25,650 0
307 2Iz2to| & 25,650 25,650 0
11T A EXAIEEX 25,650 25,650 0
odzY =i #3H XA 25,650
SO MEBOF XY 35,000 29,700 5,300
402 SI2FXHE0| & 35,000 29,700 5,300
01 BIZtXIEAYE X (KM TH ) 35,000 29,700 5,300
OSHLQl MEtotd 22| X & 35,000
LCOISAL U B X 84,500 81,500 3,000
307 QI2t0| ™ 84,500 81,500 3,000
03 AAHHEESAHES 52,500 49,500 3,000
O (AH)UHet=0l3 EFEAIXKE 29 30,000
O(A)HEt=0la EFAIXE ELALQE 2
o 22,500
1 ASISXAS R 32,000 32,000 0
ALY EAMMMB(ANZBEH) 2,000
OENY 13 L BAS WRO(F2ETH
ESNDNE:E-1D)] 4,000
OLQIUs =3 SAH(ANUSHE =TI Z A 3,000
OLolHX el T2 Od"otdSEe"(AH)
SI2NOHANXNEIIN=IE 2,000




SN XD
Hu: Lo=] ZX
©: CsMEy X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONzd MHES HHC MN(MHEESHH) 3,000
oO&= J|1gd JIZ2HA 5,000
OX=Al AILIHE A& SH=EF S8 ZME(A
B2 00 A0S M ERE 3,000
OO0IZAH DeloHAHMBS23& 7,000
0J18g 42043 F=EA 3,000
Lol 2435 AtY 80,000 80,000 0
= 20,000
Al 60,000
307 21201 A 80,000 80,000 0
< 20,000
Al 60,000
11T AL S XA E X 80,000 80,000 0
OLols E435tAtY 80,000
< 20,000
Al 60,000
dF= F2IAL HEA 36,000 24,000 12,000
< 18,000
Al 18,000
307 glz2tol & 36,000 24,000 12,000
< 18,000
Al 18,000
02 It HAMHEE 36,000 24,000 12,000
o= Jd=z2=22 U 36,000
< 18,000
Al 18,000
Z2AL X2 78,000 85,000 A7,000
OB 0lE A 10,000 10,000 0
201 Lt 10,000 10,000 0
03 &Ar2 I 10,000 10,000 0
OO0 0lE &AL 10,000
L QIZ2E AL 50,000 50,000 0
201 Let24d] 50,000 50,000 0
03 &Ar2 Gl 50,000 50,000 0
OLelo & A 20,000
Okl AHOIEE U3l 10,000
OSSR J& SAX A3 20,000
LOolHOIEE E43 8,000 8,000 0
307 21201 A 8,000 8,000 0
TEEY NEEE: 8,000 8,000 0
ONOIEZE =2X &3lu= 8,000
= 23 FAAY 10,000 10,000 0




2N
X ZH -
L= B

el

=]

Ol

0¥ H 0z
[Ho

HU o o
02 JiT JiT
> A
il

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 10,000 10,000 0
03 A2 Z Hl 10,000 10,000 0
OSEst& e At 10,000
Lo=EXAE XA 13,502, 166 10,347,645 3,154,521
= 606,603
=) 4,854,028
Al 8,041,535
Lo=ia 24 3,618,080 3,446,000 172,080
307 glz2+ol & 3,618,080 3,446,000 172,080
05 RIZHRI &3 3,618,080 3,446,000 172,080
O =X2 24l 205,000
OLe=EXa Al 3,211,896
OLQ=X2 SARH <& HI 201,184
Lol=Ra BSAN EEE 114,990 0 114,990
< 34,497
Al 80,493
307 21201 A 114,990 0 114,990
< 34,497
Al 80,493
11T MISAASEX 114,990 0 114,990
OLe=sIa SAX S8 114,990
< 34,497
Al 80,493
Lo=EA2 g0y 29 & 209,400 209,400 0
< 18,000
Al 191,400
307 21201 A 209,400 209,400 0
= 18,000
Al 191,400
11T ALS S RAEE = 209,400 209,400 0
okel=Xa A2y 22X 209,400
< 18,000
Al 191,400
LQSEE 2SHUAMLIA 22A 126,000 120,000 6,000
< 37,800
Al 88,200
307 glz2tol & 126,000 120,000 6,000
< 37,800
Al 88,200
11T MIEXAISEEX 126,000 120,000 6,000
OLQEE 2sHEAMHIA 22l At 126,000
< 37,800
Al 88,200
LoET2 JsEE 23,900 15,000 8,900




AN MESID
Mo pol=x 53
@ Z=EXAE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 23,900
402 RI2EX20| A 23,900 15,000 8,900
< 23,900
02 QI EAILEZ (01X E) 23,900 0 23,900
ok=EX2 JIsEY 23,900
= 23,900
Lo AZ AL X 468,222 468, 136 86
= 327,756
< 28,093
Al 112,373
307 21201 A 468,222 468, 136 86
= 327,756
< 28,093
Al 112,373
10 ALSISXAIEEE2IHEX 468,222 468, 136 86
ORI LZAL XE 468,222
= 327,756
= 28,093
Al 112,373
LOolMEAY XA 6,299,007 4,571,464 1,727,543
< 4,409,305
Al 1,889,702
301 gt d= 6,299,007 4,571,464 1,727,543
< 4,409,305
Al 1,889,702
01 MI2EZE 6= 6,299,007 4,571,464 1,727,543
OLolMaEAld XA 6,299,007
< 4,409,305
Al 1,889,702
LOIMEAIL SALL SEE€2H 586,428 518,160 68,268
< 166,929
Al 419,499
307 glz2+ol & 586,428 518,160 68,268
= 166,929
Al 419,499
11T MIEXASEX 586,428 518,160 68,268
OLQMEANE SAA SE€E 586,428
< 166,929
Al 419,499
SAANE F2LA DAY 15,000 15,000 0
301 et A=z 15,000 15,000 0
MIIEE4d3 15,000 15,000 0
OQUANE H2ZA 2 TAME 15,000
L QAAE EHFSAY 197,694 60,106 137,588
= 98,847




SN XD
M Lol=x B
e ZoEXAE X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 29,654
Al 69, 193
402 SI2F 20| & 197,694 60, 106 137,588
= 98,847
= 29,654
Al 69, 193
02 CIZEXIEAIS X (0| XM THL) 197,694 60, 106 137,588
OLQQAANEEE(IsEL)AMY 197,694
= 98,847
& 29,654
Al 69,193
LOQAANA JsES 15,850 120,000 A 104,150
= 15,850
402 12t 20| ™ 15,850 120,000 A 104,150
& 15,850
02 QX2 A EX (0| X THSH) 15,850 120,000 A 104,150
OLORAAAL JsEH 15,850
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O XNZ2KDX 22| A& HH| 39,500
SN2 X HEH O A 40,000 0 40,000
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ENHLEZZHO S S UM A 29X (RXE 7,452 0 7,452
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J| 3,726
Al 3,726
307 QI2t0| ™ 7,452 0 7,452
J| 3,726
Al 3,726
10 A SXNANEEESIHEX 7,452 0 7,452
OSHLOUESSEHMHS SIAHNLEAH A S
4 H= 7,452
J| 3,726
Al 3,726
SEHEQ F=ZH XN 53,760 43,000 10,760
301 et A= 53,760 43,000 10,760
01 Al B & A 462 53,760 43,000 10,760
OSsSAHLQ =22=dl XN& 53,760
2z dzAd 890,898 710,340 180,558
=} 137,835
Al 753,063
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o=} 137,835
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Al 5,408,321
307 2izto| A 6,009,245 4,510,808 1,498,437
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Al 1,260
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402 2I2H X201 M 27,000 0 27,000
01 QI2HXH2 AP 2 2= (REAIXH &) 27,000 0 27,000
OFd =& gLl 27,000
A EE232 24 & S 28 1,300,000 0 1,300,000
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Al 500,000
401 A& HIZ 201 I 1,300,000 0 1,300,000
< 800,000
Al 500,000
01 A& HI 1,296,500 0 1,296,500
OBEZd =48 ¥ &8 HE 1,296,500
< 797,500
Al 499,000
03 A2 2 0HHI 3,500 0 3,500
OEesd =48 & == 28 3,500
< 2,500
Al 1,000
et A0ZE =R JIsELAY 10,000 0 10,000
< 10,000
402 RI2EX=201 M 10,000 0 10,000
< 10,000
02 QI EALEZ (01X S) 10,000 0 10,000
OXUSZHZIEEXN2 IIsEZAY 10,000
= 10,000
ZoHe =EXNEA 39,126,823 39,426,335 A~ 299,512
= 21,404,520
< 4,683,510
Al 13,038,793
ZOoHQl MEord X & 27,590,484 26,464,393 1,126,091
= 17,876,997
< 3,177,903
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ZOHe =X Xel XA 553,392 525,264 28,128
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< 110,678
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< 110,678
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05 BIZHRI & 3 200,000 200,000 0
(©elFal] 678,055@ x27H «10& 183,075
o=2gHl 16,925
ZoHeIgXiel Ch20te 292 2,000 2,000 0
201 Let24d] 2,000 2,000 0
01 At 2teltl 2,000 2,000 0
oZoe LgXtel G20ty 29 2,000
HOHAUEXRI|F R 22,180 22,545 A 365
= 17,744
< 1,774
Al 2,662
301 gEtE 4= 22,180 22,545 A 365
= 17,744
< 1,774
Al 2,662
01 M2I2EZE 06z 22,180 22,545 A 365
OFOe MHEEEXRIF W 22,180
= 17,744
< 1,774
Al 2,662
Zoperelzdl XA 381,510 464,208 A 82,698
= 305,208
< 30,521
Al 45,781
308 XXM SO A 381,510 0 381,510
= 305,208
< 30,521
Al 45,781
10 B2 SO BAHHH A 381,510 0 381,510
O&OQl 2l=Hl XA 381,510
= 305,208
< 30,521
Al 45,781
HAsSEe MEH L ZAH XI& 10,950 9,204 1,746
= 5,475
< 2,190
Al 3,285
307 21201 A 10,950 9,204 1,746
= 5,475
< 2,190
Al 3,285
01 222l 10,950 9,204 1,746
OMASZEOHR AEHHl 2 HAH X2 10,950
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& 7,164
Al 16,699
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301 LBt A= 54,120 54,300 A 180
11 JIEtE A= 54,120 54,300 A 180
O T Al 24| 47,520
OSAL &#SsE24M42 6,600
ZOHQ E=SXE ALY 11,319,484 10,649,886 669,598
= 7,924,673
o 1,358,338
Al 2,036,473
403 AIXSHME X201 N 11,319,484 0 11,319,484
= 7,924,673
=} 1,358,338
Al 2,036,473
02 2| 2SO HetX =& & A HI 11,319,484 0 11,319,484
OHMC EESXIANY 11,319,484
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< 6,178
Al 9,267
HFOHAAFAIE EIAX UHEZ XS 10,000 10,000 0
< 3,000
Al 7,000
307 glz2tol & 10,000 10,000 0
< 3,000
Al 7,000
11T AISI S XA E = 10,000 10,000 0
OXOHANZ=AILE EAX N2 X 10,000
< 3,000
Al 7,000
ZOfe NEXNJME 2 150,000 150,000 0
< 45,000
Al 105,000
307 glz2tol & 150,000 150,000 0
< 45,000
Al 105,000
11 AISI S XA E X 150,000 150,000 0
OXZOMel INEXNJAHH 29 150,000
< 45,000
Al 105,000
Zojel MNSHMH 29 150,000 150,000 0
< 60,000
Al 90,000
307 21201 A 150,000 150,000 0
< 60,000
Al 90,000
11T AR SXAIEE = 150,000 150,000 0
OFHe BMNEHH 294 150,000
< 60,000
Al 90,000
dFA ZOHA=EXRARE 2 5,000 5,000 0
201 LB-2d| 5,000 5,000 0
01 At 22l 5,000 5,000 0
OFFA ZOUHA=EXAZE 2
100,000& »10H x53| 5,000
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< 1,710
Al 3,990
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O0&ZHe E4HIE XA 19,000
= 13,300
< 1,710
Al 3,990
FoHeE $=sHE X 135,600 0 135,600
301 et a s 135,600 0 135,600
MIIEE43 135,600 0 135,600
OFM JtE &2=H XA 135,600
ZOHQ JtE sMHIE XN 85,000 0 85,000
301 LB A Z 85,000 0 85,000
MIEE43 85,000 0 85,000
OFOLIIIE S4HIE FIt X2 85,000
Zofel ols2101 =2 s XN&A 60,000 0 60,000
307 glz2tol & 60,000 0 60,000
11T M SXAISE EX 60,000 0 60,000
OFOe 0Is210 =2l s N& 60,000
FAZ ASUXNMES SZ2A0LE CHOIA JHYE 30,000 0 30,000
t (=l AEXE)
402 RI2EX20| N 30,000 0 30,000
02 QI 2 A EZ (O THE) 30,000 0 30,000
OAOtECIHIOIA T2 &2 goel=s &
OtECIHIOIA ASMEIA 30,000
2SEX 20 21,879 38,944 A 17,065
= 15,315
< 2,626
Al 3,938
307 21201 A 21,879 38,944 A 17,065
= 15,315
< 2,626
Al 3,938
05 RIZt2IEt = 21,879 38,944 A 17,065
ogs2x Jtatsdo 21,879
= 15,315
= 2,626
Al 3,938
S22 2SHEXNA 9,600 0 9,600
= 7,680
< 576
Al 1,344
307 glz2tol & 9,600 0 9,600
= 7,680
S 576
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PN HESIIB

M HOe =2XNE5E
SOl FONQ MEOIE X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-/
Al 1,344
11T MISXASEX 9,600 0 9,600
O3Z2=de gsHEXE 9,600
= 7,680
< 576
Al 1,344
A - H2ZEOHQ LEDRE =25 XI& 16,500 0 16,500
402 RI2HXt20l ™ 16,500 0 16,500
01 212t 2 AL E = (REM ) 16,500 0 16,500
OAl - 32 E0Q LEDRE =02 s X
165,000 * 100 All CH 16,500
Zojel s X2 10,000 0 10,000
201 et 10,000 0 10,000
01 At 22l 10,000 0 10,000
OZe 2sXNHFSH A2 =& S 10,000
ZoHel & X 615,858 691,730 ANT5,872
< 101,755
Al 514,103
ZOHQIEHH SXAY XI& 137,500 136,415 1,085
307 21201 A 137,500 136,415 1,085
11T MISRASEEX 137,500 136,415 1,085
ONAEONQ PHEHDIS(HSAIZR NI
3 ™MEAIKXE) 13,000
OAZAZOIO 812, HRDA Y SIS
KN (HdSAIZ2EHAAG S M =AIXIS]) 5,000
OXO0Ite ZFE=2 XNFAS (BEHEOH
I MFAXR) 5,000
ORM183 AIMZEOMC EsZEA NA(B=HE
OIS 3IHM=AIXKIS) 3,000
OO HNEY2AMA(MESXMBUHAESH
= A X3l 12,500
ORstME L HMHAUI(MEXMEOHE S
= AKX 3 6,000
owgNelS A NIFEH HSDS (M
223 ™= AIKIS) 5,000
OBUWIE Ay LSHE A8 Y F(HSF
HOIR 23| M= AlXISl) 2,000
OAWIHLZ2 MUes ELHHH (I ZHMHAR2S
= AKX 3 2,000
OZMAXNHE & 229 It L 24X
2(St=2THMARL23HFAIXZ) 3,000
S ZT2NY 2 (d=s0t2 sl ™=
A X&) 10,000
OsoXd MIEE Z20¥ 2Y(Md==s012
g3l ™F AKX S 4,000
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2N
X ZH -
L= B

el

ME=7
Zojel =NEA
Zojel SR X

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
ONSHMA=ZEXN2MAPZ AN F AKX A 2,400
ol ol & SHAL 15,000 15,000 0
307 giztol & 15,000 0 15,000
11T AISIEXAIEEX 15,000 0 15,000
OXFOCI < AL 15,000
ZOHel ASM=UE 9,500 9,500 0
307 QI2t0| ™ 9,500 9,500 0
11 Al EXAIEEX 9,500 9,500 0
OZ0He AESH=US 9,500
K HEH HOAIE XNJHEH 29 133,385 122,532 10,853
= 36,014
Al 97,371
307 2Iz2to| & 133,385 122,532 10,853
= 36,014
Al 97,371
10 M SXAANEEHESIGHEX 133,385 122,532 10,853
OXMZAOC EHoAM XNJAHMYH 299 133,385
= 36,014
Al 97,371
NEEHMC NHASHEH 29 135,005 130,005 5,000
= 27,001
Al 108,004
307 2iztol & 135,005 130,005 5,000
= 27,001
Al 108,004
10 MM SAANEEHESIGHEX 135,005 130,005 5,000
OXHEEOHS XNEXNJALAEH 24 135,005
= 27,001
Al 108,004
Al2EEO QN X WS 12,468 12,468 0]
= 3,740
Al 8,728
307 QI2t0| ™ 12,468 12,468 0
=} 3,740
Al 8,728
11T A EXAIEEX 12,468 12,468 0
OAZZEOHe XU 12,468
& 3,740
Al 8,728
ool ofstw 29 XA 100,000 100,000 0
= 30,000
Al 70,000
307 2iz2to| & 100,000 100,000 0
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2N
X ZH -
L= B

el

ME=7
Zojel =NEA
Zojel SR X

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 30,000
Al 70,000
11T A EXAIEEX 100,000 100,000 0
OXFOC ot 29 XA 100,000
o= 30,000
Al 70,000
HFEA =0H23HH 16,000 17,100 A 1,100
307 QI2t0| ™ 16,000 17,100 A 1,100
11 Al EXAIEEX 16,000 17,100 A 1,100
Ox=0HZ23HA 16,000
ZOHCIEH JIsEd 5,000 40,000 A 35,000
= 5,000
402 BI2H X201 M 5,000 40,000 A 35,000
o= 5,000
02 QIZEXIEAISE X (0| XM THL) 5,000 0 5,000
OFEXNMEOMCIEEE EFAKXG JsEBEY 5,000
= 5,000
S0l EXAIE A 10,920,481 12,270,212 N 1,349,731
= 3,527,523
== 1,403,852
Al 5,989, 106
HUQQAAE 2H XA 1,700,312 1,798,314 A 98,002
= 1,190,219
& 153,028
Al 357,065
307 2iz2to| A 1,700,312 1,798,314 A 98,002
= 1,190,219
& 153,028
Al 357,065
10 MM SAANEEHESIGHEX 1,700,312 1,798,314 A 98,002
OFMNQQRAAIL 2| 1,700,312
= 1,190,219
o= 153,028
Al 357,065
HAQLUANE S SANLAN E8LE 54,720 52,200 2,520
& 16,416
Al 38,304
307 QI2t0| ™ 54,720 52,200 2,520
&< 16,416
Al 38,304
11T A EXAIEEX 54,720 52,200 2,520
OFAMQQAANES SAAN S8 54,720
& 16,416
Al 38,304
HAUQAAE MEZ2 O X 13,360 14,080 ANT20
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2N
X ZH -
L= B
el

ME=7
ool =2XEX
Zojol =ZXAIE XY

SA-Z3H-SH2A(3AH) - A

01
o

0l &t o

=

i
2m

H

Al

4,008
9,352

307 21201 &

in

Al

13,360

4,008
9,352

14,080

AT20

A S XA E X
OFAMRIAANE Hezzd XA

t

Al

13,360

13,360

4,008
9,352

14,080

AT20

04
>
fo
02
>
>
0z
ik
e

N
pal
(=S

H

Al

5,845

1,753
4,092

6,160

A 315

307 glztol &

H

Al

5,845

1,753
4,092

6,160

A 315

11T M3 SXAISEEX

OFAQOUAIA MBSOl 2H4XIH|

= M

5,845
5,845

1,753
4,092

6,160

A 315

= M W

3,124,684
2,187,279
187,481
749,924

5,168,892

A2,044,208

307 21201 &

= W

3,124,684
2,187,279
187,481
749,924

5,168,892

A2,044,208

10 A2 SAAEHE2SH

g
OFOME HAFAE 28 X

22X

= MW

3,124,684
3,124,684

2,187,279
187,481
749,924

5,168,892

A2,044,208

0 HAFAE JIsES

= MW

300,050
150,025

45,008
105,017

300,050

402 212t X201 &

= MW

300,050
150,025

45,008
105,017

300,050

02 LA TEALEZ(0IETHR)
OFHML HFAE JIsEH

= N H

300,050

300,050
160,025

45,008
105,017

300,050

02
2
)
1M
]
HT
fob
>
x
Mo
02

t

1,528,683
294,134

1,362,559

166, 124
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2N
X ZH -
L= B

el

ME =0
ol sXsd
el SXAE X

SA - FE - BI(EA) - NRAY - By 0l b SSa DS

Al 1,234,549

307 21201 A 1,528,683 1,362,559 166, 124
& 294,134
Al 1,234,549

10 ALSISXAIEEE 22X 1,528,683 1,362,559 166, 124
OFM F2AESAIE 2H (24| 1,380,363
< 264,474
Al 1,115,889
Qe =UAESANE 2F (222 148,320
= 29,660
Al 118,660

ZOHQl OF2 S S ALY 259,800 259,800 0
< 51,960
Al 207,840

307 21201 & 259,800 259,800 0
< 51,960
Al 207,840

11T M SRASEEX 259,800 259,800 0
OZOQ OFASSALE 259,800
= 51,960
Al 207,840

e SsHIE 24 152,546 291,250 A 138,704
< 14,775
Al 137,771

307 glz2+ol & 152,546 291,250 N 138,704
< 14,775
Al 137,771

10 A SXAEHE2SEHIEX 152,546 291,250 A 138,704
oZle =428 24 152,546
< 14,775
Al 137,771

Zojel HIIESAIE 2% 184,657 165,000 19,657
< 34,931
Al 149,726

307 glztol & 184,657 165,000 19,657
< 34,931
Al 149,726

10 AL SXNAIEEE2EHEX 184,657 165,000 19,657
OFe EHIESAE 294 184,657
=) 34,931
Al 149,726

e SAAE SML S8 265,571 181,470 84,101
=) 79,671
Al 185,900

307 21201 & 265,571 181,470 84,101
=) 79,671
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2N
X ZH -
L= B

el

AH

DA

Zojel =NEA
Zojol =ZXAIE XY

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 185,900
11T MISXASEX 265,571 181,470 84,101
OHM SXAE SAX S8 265,571
< 79,671
Al 185,900
ZoHel HAE(HY) H=AE K& 309,833 255,132 54,701
< 30,983
Al 278,850
307 21201 A 309,833 255,132 54,701
< 30,983
Al 278,850
10 ALSISXAIEEER2IHEX 309,833 255,132 54,701
OFOH HE(ONL) HF=ALE K& 309,833
= 30,983
Al 278,850
SAIE O NS MESE 2 508,306 83,020 425,286
307 gl2tol & 508,306 64,620 443,686
11 ALS S XAEE = 508,306 64,620 443,686
(©elFal] 27,920,400 * 1300 £ 362,966
oZcl 2%l 11,180,000 *137H £ 145,340
ZOoHoI =SR2 29 1,162,748 1,114,289 48,459
< 225,068
Al 937,680
307 21201 A 1,162,748 1,114,289 48,459
= 225,068
Al 937,680
10 M2 SXNANEHES2IHEX 1,162,748 1,114,289 48,459
OFel=X2 24| 1,162,748
= 225,068
Al 937,680
o ME=2EE 29 120,000 120,000 0
307 glz2tol & 120,000 120,000 0
05 RIZHRIE 3 120,000 120,000 0
OZMR M8 == 24 120,000
ZOHQ =3tSAHH 294 274,620 189,552 85,068
< 35,324
Al 239,296
307 glz2+ol & 274,620 189,552 85,068
< 35,324
Al 239,296
10 ALSISXAIEEE2GH EX 274,620 189,552 85,068
OHME =3tsAdH =29 274,620
< 35,324
Al 239,296
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2N

X ZH
S =

el

ME =0
e EXsd
Zofel SXAIE XA

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
FMEosXAAdH 29 234,554 236,727 A2,173
< 45,311
Al 189,243
307 gl2tol & 234,554 236,727 A2,173
< 45,311
Al 189,243
10 M3 SXNANEHIS2IHEX 234,554 236,727 A2,173
O MEOISKNALEH 29 234,554
< 45,311
Al 189,243
AZLEONON(EX) SHR 29 152,734 142,134 10,600
< 73,167
Al 79,567
307 glz2+0l & 152,734 142,134 10,600
< 73,167
Al 79,567
11 AISI S XA E = 152,734 142,134 10,600
OALZOHCH(ER) SANZ 2Y 152,734
< 73,167
Al 79,567
ZOHQ HATHEAE 22| 567,058 527,433 39,625
< 110,634
Al 456,424
307 21201 A 567,058 527,433 39,625
< 110,634
Al 456,424
10 M2 SXNANEHE2IHEX 567,058 527,433 39,625
OXOHQ MNATHEAIE 29I 567,058
= 110,634
Al 456,424
A& HFE B RYMBST MEHEA 400 0 400
< 200
Al 200
307 glz2tol & 400 0 400
< 200
Al 200
11T ASI S XA E = 400 0 400
OAME A= ZO0HQ UM A A 400
= 200
Al 200
MY I (ME=TD) 796,913 705,946 90,967
ol I (ME =X 1) 671,283 580,316 90,967
ol 2 AH (ME=SX1) 671,283 580,316 90,967
101 1244 dl 671,283 580,316 90,967
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SN XD
B LSRR (MBS
Crol: olee oyl (MB=ND) (el @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 2= 671,283 580,316 90,967
oAt ZESE 671,283
[ L= 10,6823 27 H «50A| 2t 128 173,049
(Vo= 9,649% 56 x50Al 2t 123 324,207
@3 8,663& x24H +50Al 2tx 128 124,748
[ Je= 7,830 4 H «50Al 2t 123 18,792
OZEHS 22X 9,6403 x2F #4 Al 2H+6 464
@ ME S 2t 85,8673 x 1«58 4,981
@ X ME = 2 77,5633 x3H 582 13,496
O RN (FL2REE)
659,733,400 *1.75% 11,546
Jl2Z(4g=sx) 125,630 125,630 0
2yl (Me=X ) 125,630 125,630 0
201 Let2d] 64,730 64,730 0
01 At 22l 56,730 56,730 0
O g+t 30,000
o2E+g 3,000
O= &l 22,680
O=X &I HOIZAL E2 S 4| 850
OL=SH (¥AHE) 200
02 232gl 8,000 8,000 0
o0z22= % HA 8,000
202 Oddl 53,400 53,400 0
01 = LH 4 Hi 53,400 53,400 0
OJIegRF& AL 53,400
203 YR =2l 7,500 7,500 0
01 JI22H =AY 3,300 3,300 0
o=sXad=% 3,300
04 FN2ELRZ=TH 4,200 4,200 0
ORN2IYSZ=AHI 350,000& »12& 4,200
WeES (M=) 6,470,712 6,458,682 12,030
HEAHAX S (ME=SX 1) 6,470,712 6,458,682 12,030
WEAAXE(ASESELIH HE2) 6,470,712 6,458,682 12,030
701 JIEtSI HSEES 6,470,712 6,458,682 12,030
01 JIEtel HE &= 6,470,712 6,458,682 12,030
OASLSSEIA HE 6,470,712
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